Tt ZTGD313524

1 2 3 b 5 6

A A

B MORAVA T B

D D
03,2014 GRudzinski e Z0C NS G R i
'03.2014 £ Zmude w7 JUNCTION BOXES SPECFICATION | _
A(S)SF.OZVS::MT.CybuIski e TITLE SHEET

E A 09,2014 G Rudzinski R

ALST@)M ALSTOM Power Sp. z o.0. MoRAVA Pu:

1

1 2 0 3 50 4 100

5

6




Status
Approved

Lng.
EN

Released
2014-09-18

Rev.

A

ype
DF

Document No.
ZTGD313524

Dept.
4400

1 2 A 5 6
SHI\E(E.T SHEET TITLE REV. DESCRIPTION
1 TITLE SHEET
2 TABLE OF CONTENTS
3 JUNCTION BOX 0TMAB10GH001
4 JUNCTION BOX 01MADLOGHO01 A | New page
5 JUNCTION BOX 0IMADLOGHO10 A | New page
6 JUNCTION BOX 0TMAW15GH001 A | New page
7 JUNCTION BOX 01MAGO1GH001 A | New page
8 JUNCTION BOX 01MAB10GH002 A | New page
S IBENTIFICATION PLATES A New plafes was added acc. to new junction boxes
OO0 0Ty Vs
Checked by: Responsible depart.:
03.2014 t.Zmuda SR27 JUNCTION BOXES SPECIFICATION
Approved by: Take over depart.: 5@
052014 T.Cybulsk TABLE OF CONTENTS
A 09.2014 G.Rudzinski en
Project: PS KKS Pages:
ALST@)M ALSTOM Power Sp. z o.o. DP:SEMAN\:AZTGDS 1 3524 Pagg
2

1 2 0 3 50 4 100 S 6




1 2 3 L 6
Front view of cubicle without door p w
13,14
N\
1 13,14
| =t
10
g a 4
2
30
R -X10 4
O 0 Lacation of elements on -X1rail
13,14 1
— 5,8,9 a
1\
- 1]2|3]4[{5]6]7]8]9[10]11]12]13|14
£ 4 &
4; 112|3)6[5]6]7]8]9[10]11]12]13[14]
‘f < Holes for cable glands in mefal gland plate
15,16 17,18
wooo &
No| Description Type Cat. no Manufacturer| Q-ty.| Additional information
1 [Box Rittal - Compact AE 1050.500 Riffal 1 |Size: 500x500x210
2 |Mounting rail TS 35x%x 15 2313.150 Rittal 1 370mm
3 |Fastening screw |BS M6x8 4558.0 Confa-Clip 2 |For mounfing rail fastening 2) | Shield buses (pos. 11) shall be not connected to ground. Tap and battom shield bus shall be wired
L |Terminal marker [UBE/D 1004076 Phgenix 1 |Marked: -X10 together.
5 |Terminal UK3N 3001501 Phaoenix 14 |beige 1 Junction box must be delievered assembled directly to sife for instalation during erection.
6 |End cover D-UK 4/10 3003020 Phaoenix 1
7 |[End brackef CLIPFIX35-5 3022276 Phaenix 2 No Locat
8 [Terminal markers|ZB 5, LGS 1-10 1050017:0001 [Phoenix 2 |Acc. to drawing Pr;pared " — — pm— — T Forma't_
9 |Terminal markers|ZB 5, LGS 11-20 1050017:0011 |Phagenix 2 |Acc to drawing 03.2014 G.Rudzinski port fst O port st U '7 DF ' A3.
10 [Shield bus holder|sH 1 2318.2 Conta-Clip A T T .
11 [Shield bus  [ssch 10,3 2129.0 Confa-Clip 1 03.2014 t.Zmuda SR27 JUNCTION BOXES SPECIFICATION
12 Shield terminal /B 4/10x3 2138.0 Con’ra—Cllp 8 Approved by: Take over depart.: 5@
13 [Cable funnel 60mm width 8800.752 Riffal 1 03.2014 T.Cybulski
14 |Aluminium rivet (TS 8800.531 Riffal 12 |For cable tunnels fastening Revision: 0IMABTOGHOO1 Tonguoge:
15 |Gland SILVYN MSK-M M20x15 55506082 Lappkabel b A 09.2014 G.Rudzinski en
16 [Nut SKINDICHT SM-M M20x15 |52103020 Lappkabel A Project Ps KKS Pages:
17 |Gland SILVYN MSK-M M32x15  [55506084 Lappkabel 1 MORAVA 9
18 |[Nut SKINDICHT SM-M M32x1.5 |52103040 Lappkabel 1 ALST@IM ALSTOM Power Sp. 7 0.0. e ZTGD313504 oo
19 |Other Wiring plan pocket 2514500 Rittal 1 [Mounted inside cubicle on door 3
I I I I I I
1 2 0 3 50 4 100 6




1 2 3 L 5 6

Front view of cubicle without door p 2

13,14
A
1 13,14
- =
11 12 10
. '
2
3] 7
R -X10 a4
O B 0 Locafion of elements on -X1 rail
13,14 S ls |z |z !
— o[22 |E 2 5,8,9 a
1z |3 |2 |2 — =\
- < 2 § é 112]3]ufs[e]7{8[9]i0]n]r213]14]15 16
& |- X10 &
4; §§ EE §§ EE 1]2]3]4[5]6] 7]8]9[10]n]12[13]1]15]16
[ SE|SE|SE|SE
‘f < Holes for cable glands in mefal gland plate R
| B o000 I
NEW PAGE
No| Description Type Cat. no Manufacturer| Q-ty.| Additional infermation , , , _ _
1 [Box Riffal - Compact AE 1050500 Ritfal 1 ISize: 500x500x210 3) T.empera.’rure frqnsmlffgrs will b.e delivered by Alstom according to spec. ZTGDB890141 directly to
2 |Mounfing rail TS 35 x 15 23713.150 Rittal 17 B370mm site for instalation during erection.
3 |Fastening screw |BS M6x8 4558.0 Confa-Clip 2 |For mounfing rail fastening 2) | Shield buses (pos. 11) shall be not connected to ground. Tap and battom shield bus shall be wired
L |Terminal marker [UBE/D 1004076 Phgenix 1 |Marked: -X1 together.
5 |Terminal UK3N 3001501 Phaoenix 16 |beige 1 Junction box must be delievered assembled directly to sife for instalation during erection.
6 [End cover D-UK 4/10 3003020 Phoenix 1
1 |End bracket CLIPFIX35-5 3022276 Phaenix 2 N Remarks: Locat
8 |Terminal markers|7B 5, LGS 1-10 1050017:0001_|Phaenix 2_JAcc to drawing e S— AL — — e
9 [Terminal markers|ZB 5. LGS 11-20 1050017:0011  |Phoenix 2 |Acc. fo drawing 03 2014 G.Rudzinski part st 0 port st 0 '7 DF ' A3 '
10 [Shield bus holder|sH 1 2318.2 Conta-Clip b T T : - .
T ehld temmal N 03.2014 L. Zmuda *27 JUNCTION BOXES SPECIFICATION | _
e ermina /B 4/10x3 ) onra-Lup Approved by: Take over depart.:
13 [Cable funnel 60mm width 8800.752 Rittal 1 03.2014 T.Cybulski
14 [Aluminium rivet |TS 8800.531 Riffal 12 |For cable funnels fastening Revision: 0IMAD40GHOO1 Tonguoge:
15 |Gland SILVYN MSK-M M20x1.5 155506082 Lappkabel 10 A 09.2014 G.Rudzinski en
16 [Nut SKINDICHT SM-M M20x1.5 52103020 Lappkabel 10 Project: PS KKS Pages:
17 |Gland SILVYN MSK-M M32x15 |55506084 Lappkabel 1 MORAVA 9
18 |Nut SKINDICHT SM-M M32x1.5 |52103040 Lappkabel 1 ALSTQ)M ALSTOM Power Sp. 7 0.0. e ZTGD313504 oo
19 |Other Wiring plan pocket 2514.500 Rittal 1 [Mounted inside cubicle on door 4

1 2 5'%' I5:0 4 100 5 6




Status
Approved

Lng.
EN

Released
2014-09-18

Rev.

A

Type
DF

Document No.
ZTGD313524

Dept.
4400

1 2 3 L 5 6
Front view of junction box without cover p 3
1
|
2
=
3
Location of elements on -X1 rail
| ] c
| | | L 5,6,9,10 7\
A\ N
11213 [&]|5]6]7[8]9(10(11[12]13]14[15
Holes for cable glands in bottom wall of junction box
13,14 11,12 >< 1 O
\‘\Ql/ @ @ \I@/ 1123 &|5]6[7]|8]9[10[11)12]13[1L[15
NEW PAGE
No| Description Type Cat. no Manufacturer| Q-ty.| Additional infermation 1 Junction box must be delievered assembled directly to site for instalation during erection.
1 [Box Conta-Clip 4010.0/1 Conta-Clip 1 |Size: 160x160x90
2 | Mounting rail TS35x 15 2313.150 Conta-Clip 1 [14Tmm \ Remarks. Locat
3 |Fastening screw [BS M6x8 4558.0 Conta-Clip 2 |For mounting rail fastening 0 . EMarks: ocat.
L [Terminal marker |UBE/D 1004076 Phoenix 1_|Marked: -X1 o015 CRudnsKi perred from: Py O & O 3“"*7 R
5 [Terminal UK3N 3001501 Phaoenix 12 |beige, exepI no. 5,10,15 ChecI<ed - .Rudzinski S same No. other No. A
S en LA ST - 3 green. ferming ne. 0.0 03.2014 t.Zmuda SR27 JUNCTION BOXES SPECFICATION | __
nd caver — genix Approved by: Take over depart.:
8 |End bracket CLIPFIX35-5 3022276 Phoenix 2 03.2014 T.Cybulski
9 [Terminal markers|ZB 5, LGS 1-10 1050017:0001 [Phoenix 2 JAcc. todrawing Revision: 0TMAD40GHO10 Language:
10 |Terminal markers|ZB 5, LGS 11-20 1050017:0011 |Phoenix 2 JAcc. to drawing A 09.2014 G.Rudzinski en
11 |Gland SILVYN MSK-M M16x15  |55506081 Lappkabel 2 Project PS KKS Pages:
12 [Nut SKINDICHT SM-M M16x1.5 |52103010 Lappkabel 2 MORAVA 9
13 [Gland SILVYN MSK-M M20x1.5 |55506082 _|Lappkabel 2 ALST@IM ALSTOM Power Sp. 2 0.0 15y ZTGD313524 o
1L [Nut SKINDICHT SM-M M20x1.5 |52103020 Lappkabel 2 5
I I I I I I
1 2 0 3 50 4 100 5 6




1 2 3 b 6
Front view of cubicle without door p L
12,13
— N\
1 12,13
- el B
10 " 9
: B | |
2 Location of elements on -X1 rail
30
R -Xx10 R
< N
(] (=)
O B 0 o o
— —
0 o
12,13 (A = =
\ A\ < <
= = 1
3 (-] (=}
T & |- X10 tel
§ g (e8] a
S _ S 5|55
= Holes for cable glands in mefal gland plate el
g, 0 = 0 =
— 115 AN
, a a
-2 & cE|Es
NEW PAGE
3) | Temperature transmitters will be delivered by Alstom according te spec. ZTGD890141 directly to
site for instalation during erection.
No| Description Type Cat. no Manufacturer| Q-ty.| Additional infarmation 2) | Shield buses (pos. 10) shall be not connected to ground. Top and bottom shield bus shall be wired
1 |Box Ritfal - Compact AE 1033.500 Rittal 1 |Size: 300x300x210 together.
2 |Mounting rail TS 35x 15 2313.150 Rittal 1 1170mm 1 Junction box must be delievered assembled directly to site for instalation during erection.
3 |Fastening screw |BS Méx8 4558.0 Conta-Clip 2 |For mounting rail fastening
4 |Terminal marker |UBE/D 1004076 Phoenix 1 |Marked: -X1 No Locat
> Terminal UK3N 3001501 Phoenix 6 beige Pr; ared b Derrived from: Separate Separate Scale: Doc. type: Formalt'
6 JEnd cover D-UK /10 3003020 |Phoenix 1 03.2014 GRudzinski | o UoER Uy o | s
1 |End bracket CLIPFIX35-5 3022276 Phaoenix 2 Checked by Responsile depart: .
8 [Terminal markers|ZB 5, LGS 1-10 1050017:0001 |Phoenix 2 |Acc todrawing 03.2014 t.7muda SR27 JUNCTION BOXES SPECIFICATION
3 [Shield bus holder(SH | 2318.2 Confa—Clip L " e T =@
10| Shield bus Ssch 10:3 2129.0 Confa-Clip 1 03.2014 T.Cybulski
1 Shield terminal /B 4/10x3 2138.0 Confa‘C“D 6 Revision: O1MAW1 SGHOO1 Language:
12 [Cable tunnel 60mm width 8800.752 Riffal 1 A 09.2014 G.Rudzinski en
13 [Aluminium rivet (TS 8800.531 Rittal 12 |For cable tunnels fastening Project ES KKS Pages:
14 |Gland SILVYN MSK-M M20x15  [55506082 Lappkabel 3 MORAVA 9
15 [Nut SKINDICHT SM-M M20x15 |52103020 Lapphabel 3 ALST@’M ALSTOM Power Sp. z o.0. [ ZTGD313524 o
16 |Other Wiring plan pocket 2514500 Rittal 1 [Mounted inside cubicle on door 6

2

1 T T T 1
0 3 50

4 100

6




1 2 3 b 6
Front view of cubicle without door P 5
12,13
— N\
1 12,13
- el B
9
g n i
3 Z\ Location of elements on -X1rail
R -Xx10 #
S
O 0 E
L S 5,8
12,13 = = REAE
\ S
& -X10 -
5 = Jef]
e S 5 [1]2]3]4]s
23 S E
= 14 15 Holes for cable glands in mefal gland plate ==
NEW PAGE
3) | Temperature transmitters will be delivered by Alstom according te spec. ZTGD890141 directly to
site for instalation during erection.
No| Description Type Cat. no Manufacturer| Q-ty.| Additional infarmation 2) | Shield buses (pos. 10) shall be not connected to ground. Top and bottom shield bus shall be wired
1 |Box Ritfal - Compact AE 1033.500 Rittal 1 |Size: 300x300x210 together.
2 |Mounting rail TS 35x 15 2313.150 Rittal 1 1170mm 1 Junction box must be delievered assembled directly to site for instalation during erection.
3 |Fastening screw |BS Méx8 4558.0 Conta-Clip 2 |For mounting rail fastening
4 |Terminal marker |UBE/D 1004076 Phoenix 1 |Marked: -X1 No Locat
> Terminal UK3N 3001501 Phoenix 6 beIge Pr; ared b Derrived from: Separate Separate Scale: Doc. type: FormaI-
6 fEnd cover D-UK &/10 3003020 |Phoenix ! 03.2014 GRudzinski | o D oER U Ty o | e
1 |End bracket CLIPFIX35-5 3022276 Phaoenix 2 Checked by Responsile depart: .
8 [Terminal markers|ZB 5, LGS 1-10 1050017:0001 |Phoenix 2 |Acc todrawing 03.2014 t.7muda SR27 JUNCTION BOXES SPECIFICATION
9 [Shield bus holderSH | 2318.2 Confa—Clip L " e T =@
10| Shield bus Ssch 10:3 2129.0 Confa-Clip 1 03.2014 T.Cybulski
1 Shield terminal /B 4/10x3 2138.0 ConIa‘CIID 5 Revision: OIMAGOI GI-IOOI Language:
12 [Cable tunnel 60mm width 8800.752 Riffal 1 A 09.2014 G.Rudzinski en
13 [Aluminium rivet (TS 8800.531 Rittal 12 |For cable tunnels fastening Project ES KKS Pages:
14 |Gland SILVYN MSK-M M20x15  [55506082 Lappkabel 2 MORAVA 9
15 [Nut SKINDICHT SM-M M20x15 |52103020 _|Lapphabel ? ALST@IM ALSTOM: Power Sp. 2 0.0. s ZTGD313524 e
16 |Other Wiring plan pocket 2514500 Rittal 1 [Mounted inside cubicle on door 7
I I I I I I
1 2 0 3 50 4 100 6




Status
Approved

Lng.
EN

Released
2014-09-18

Rev.

A

Type
DF

Document No.
ZTGD313524

Dept.
4400

1 2 3 L 5
Fronf view of cubicle without door p 6
15,16
— N\
1 15,16
- ==
13 14 12
: —
2
30
R -x10 A
O B 0 Location of elements on -X1 rail
15,16 1
—\ L 5,8,9,10,11 a
N\ 1\ \
1]2]3 15(16 [17 |18[19|20]21{22|23| 24{25] 26| 27| 28] 29[3031]32[33]34[35
-X10
1]2]3 15]16 17 [1819] 20{21{ 22|23 24]25{26[27[ 28] 29[30[31(32[33[34[35
Hales for cable glands in metal gland plate
17,18 $ $ 19,20
No| Description Type Cat. no Manufacturer| Q-ty.| Additional infermation
1 |Box Rittal - Compact AE 1030.500 Rittal 1 |Size: 380x300x155
2 |Mounting rail TS 35x 15 2313.150 Rittal 1 1250mm NEW PAGE
3 |Fastening screw |BS Méx8 4558.0 Conta-Clip 2 |For mounting rail fastening
4 |Terminal marker |UBE/D 1004076 Phoenix 1 |Marked: -X1
5 [Terminal UK3N 3001501 Phaoenix 35 [beige 2) | Shield buses (pos. 13) shall be nat connected to ground. Top and bottom shield bus shall be wired
6 [End cover D-UK /10 3003020 Phoenix 1 together. _ _ : : : : :
7 IEnd bracket CLIPFIX35-5 3022276 Phoenix 2 1 Junction box must be delievered assembled directly to site for instalation during erection.
8 |Terminal markers|ZB 5, LGS 1-10 1050017:0001 |Phoenix 2 |Acc. todrawing
9 [Terminal markers|ZB 5. LGS 11-20 1050017:0011  |Phoenix 2 |Acc. to drawing No. Remarks: Locat.
10 |Terminal markers|ZB 5, LGS 21-30 1050017:0021 |Phoenix 2 |Acc. fo drawing —— v v — —
11 |Terminal markers|ZB 5, LGS 31-40 1050017:0031 |Phoenix 2 |Acc. to drawing 03.2014 G.Rudzinski port st 0 part st U o A3
12 |Shield bus holder|SH 1 2318.2 Conta-Clip b Choced by =
13|Shield bus Ssch 10x3 2129.0 Confa-Clip I 03.2014 t.Zmuda JUNCTION BOXES SPECIFICATION
1L [Shield terminal 7B 4/10x3 2138.0 Conta-Clip 9 prr——— 5@
15 [Cable funnel 60mm width 8800.752 Riffal 1 03.2014 T.Cybulski
16 |Aluminium rivet |TS 8800.531 Rittal 12 [For cable tunnels fastening Revision: 01MABTOGHO02 Tanguage:
17Gland SILVYN MSK-M M20x15 [55506082 L appkabel 5 A 09.2014 G.Rudzinski en
18 [Nut SKINDICHT SM-M M20x15 [52103020 Lappkabel 5 Project PS KKS Pages:
19 |Gland SILVYN MSK-M M25x1.5 55506083 Lappkabel 1 MORAVA 9
20[Nut SKINDICHT SM-M M25x15 [52103030 Lappkabel 1 ALST@IM ALSTOM Power Sp. z 0.0. (5 ZTGD313524 o
21|0ther Wiring plan pocket 2514500 Rittal 1 |Mounted inside cubicle on door 8
I I I I I I
1 2 0 3 50 4 5




Approved

Status

Lng.

2014-09-18 |EN

ev.|Released

R
A

Type
DF

Document No.
ZTGD313524

Dept.
4400

50

01MAB10GHO01 01MAB10GHO002 01MAGO01GHO001

01MAD40GHO001 01MAD40GHO010 01MAW15GHO001

2) |Identification plates to be delivered assembled on the front panel (door) of the junction boxes.

1 Identification plates (dimentions, colours, material, text format) fo make according to template
valid for Morava project.

No. Remarks: Locat.
Prepared by: Derrived from: Separate Separate Scale: Doc. type:| Format:
03.2014 G.Rudzinski e No Dt U A DF | A3
Checked by: Responsible depart.:

03.2014 t.Zmuda SR27 JUNCTION BOXES SPECIFICATION

Approved by: Take over depart.: 5@
252014 T0ybulek IDENTIFICATION PLATES
A 09.2014 G.Rudzinski en

Project: PS KKS Pages:

MORAVA
A LST@)M ALSTOM Power Sp. Z 0.0. fr——ems Pa:
/T1GD313524 9

1 2 0 3 50 4 100 5 ‘ 6




